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QUESTION 1

A project manager identifies stakeholders who will be impacted when a new product is delivered to the company. The
project manager notices that more stakeholders will be positively impacted than negatively impacted. Which of the
following actions should the project manager take?

A. List both positively and negatively impacted stakeholders.

B. Update the communication plan with the new findings.

C. List the negatively impacted stakeholders only.

D. List the positively impacted stakeholders only.

Correct Answer: B

Explanation: When a project manager identifies stakeholders who will be impacted by the delivery of a new product, it is
important to update the communication plan to reflect these findings. This ensures that all stakeholders are informed
about the project\\'s progress and how it may affect them, fostering transparency and managing expectations.
References = The answer is based on standard project management practices and the typical use of communication

plans in stakeholder management. For detailed information, please refer to the CompTIA Project+ Study Guide and
other official CompTIA resources.

QUESTION 2

While developing a project charter, a PM discovers that some of the legal requirements have not been addressed during
the project concept preparation, which could result in significant financial penalties against the organization. The PM

knows that implementation of appropriate changes is costly and will exceed the budget and scope of the project.
Which of the following should the PM do FIRST?

A. Escalate the finding to the change control board.

B. Add a risk to the risk register for validation.

C. Consult the RACI matrix to identify ownership of the risk.

D. Have a meeting with the project sponsor and main stakeholders.

Correct Answer: D

Explanation: The project manager should have a meeting with the project sponsor and main stakeholders first after
discovering that some of the legal requirements have not been addressed during the project concept preparation. The
project sponsor and main stakeholders are the key decision-makers and influencers of the project. They have the
authority and responsibility to approve or reject any changes to the project scope, budget, or schedule. Having a

meeting with them can help to communicate the issue, assess the impact, explore alternatives, and seek guidance on
how to proceed with the project34

QUESTION 3
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A project manager realizes that a project will not be completed on time due to resource constraints. Which of the
following actions should the project manager take NEXT?

A. Trigger the contingency plan and communicate with the stakeholders.

B. Work with the functional managers to create a work-around.

C. Submit a change request to the change control board.

D. Transfer the risk by hiring a new vendor who was successful on a previous project.

E. Set up an escalation meeting with the sponsor.

Correct Answer: C

Explanation: Submit a change request to the change control board. The project manager should submit a change
request to the change control board (CCB) if they realize that the project will not be completed on time due to resource
constraints. A change request is a formal proposal to modify any aspect of the project, such as scope, schedule, cost,
quality, or resources. A change request must be submitted to the CCB, which is a group of stakeholders who are

authorized to review and approve changes. Submitting a change request can help to document the impact of the
resource constraints on the project and seek approval for any corrective actions or preventive actions12

QUESTION 4

Which of the following software programs would be best to use to store information related to business transactions?
A. Record management system

B. Customer relationship management

C. Enterprise resource planning

D. Content management system

Correct Answer: C

Explanation: Enterprise resource planning (ERP) software is a type of software that integrates various business
functions and processes, such as accounting, finance, inventory, sales, purchasing, human resources, and more. ERP
software helps businesses store, organize, and manage information related to business transactions, such as invoices,

payments, orders, receipts, and reports. ERP software also provides real-time data analysis, reporting, and forecasting
capabilities12.

QUESTION 5

During a staff meeting, a project manager voices a concern about the client billing rate for a particular engineer. Which
of the following documents would the project manager need in order to find this information?

A. SLA
B. TOR

C. SOW
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D. NDA
Correct Answer: C

Explanation: In order to find the client billing rate for a particular engineer, the project manager would need to refer to
the SOW (Statement of Work). The SOW is a document that outlines the work to be performed, the timeframe for
completion, and the cost of the project. It also includes information about the resources involved in the project and their
billing rates. References: CompTIA Project+ Study Guide Section 2.2. The project manager would need a statement of
work (SOW) to find information about the client billing rate for a particular engineer. A SOW is a document that defines
the scope of work for a project or contract. It usually includes information such as deliverables, milestones, timeline,
costs, payment terms, quality standards, and acceptance criteria. A SOW can help to specify what services or products
will be provided by whom, when, where, how, and for how much.
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